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 A/57/PV.7

"97"&)3&), @939"., 93"$C$>3 %9D9, D&-,%&, -98#9-
5"9=%./ 793",*%953,1 D 9*8$53& "$'D&3&), $ 3$@C, 
7",-;56$3"&D$,3 @9%53";@3&D%9, & D'$&69D.#9-%9, 
;=$53&, D ",#&9%$84%96, 6,C-;%$"9-%96 & -";#&/ 
6%9#9539"9%%&/ 7"9(,55$/ -8) EFF,@3&D%91 &%3,-
#"$(&& MF"&@& D #89*$84%.1 798&3&=,5@&1 & E@9-
%96&=,5@&1 79")-9@. 

 29E396; 93"$-%9, =39 6,C-;0 TD
0.72 1 Tf5(C)-27.7(-)-5.28(5)5226c
[(7.6(;0 TD
0.72 11 Tf
2.1017 0 TD
0 Tc
(-)Tj
/TT1 1 4#)23-24.3209 -1.2048 T2641(,)-19.7(C)-27.7(-)-27.6(;0 TD
0.72 1 Tf52 -1.20471 Tf
0.3159 0 TD
0.0359 Tc
[(-98#)20.9(9)]TJ
/TT2-=)-7TT2 17j
/TT(;0 T3416640 TD
.7(&)-12.2(1)]TJ
/TT2 1 T/Tf
)TjD
0 Tc
(-)Tj
/TT1 1 4#)23-282()-27.6(;0 TD91664#)23-282()-27.6.9(9/TT1 (;0 /TT1 4"472 T)(,22.8(,)]TJ
/TT2 1 Tf
7.3254 08.0354j
-9.6215 -1.8071-Tc
(-)Tj
 TD
0
[(;)(5)-6.5(6$)17.8(9881 Tf
7.3254 0 TD
0 Tc
( )Tj
/TTD
0
[(;)(5)-02 0 TD
0 Tc
( )Tj-)T20 TD
0 Tc
( )Tj-1 (;0 /TT1 4"472 T)(,22.8(,)]TJ
/T"076 )Tj
/TT32617)5)-6.5(f
0.437>9)21.5(6)-3.6(;)]TJ
/TT2 1 Tf
3.9846669
0 Tc
( )Tj
/TT1 1 Tf
0.328 0 T,
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A/57/PV.7  

%&) 79539)%%9#9 6,C-;%$"9-%9#9 5;-$, @939".1 
9*,57,=&3, =39*. 8&($, 59D,"K&DK&, 5$6., 5,"4,'-
%., 6,C-;%$"9-%., 7",53;78,%&), 7",-53$8& 7,-
",- 5;-96. A E391 5D)'& TV: -98C,% 53",6&345) 
7",-93D"$B$34 &8& 7",-;56$3"&D$34 %$@$'$%&, D 
396, =39 @$5$,35) 7",53;78,%&1, 5D)'$%%./ 5 3,""9-
"&53&=,5@91 -,)3,84%9534>, @939"., 69#;3 *.34 
D.)D8,%. %$ E3$7, 79-#939D@&, %9 7"& E396 69#;3 
&6,34 5,"4,'%., #89*$84%., 7958,-53D&). 

 T,C-;%$"9-%$) 9*53$%9D@$, $ &6,%%9 59*.3&) 
D 6&"9D91 E@9%96&@,, *.8& %,*8$#97"&)3%.6& -8) 
"953$ 7,"57,@3&D 3$@&/ 6$8./ #95;-$"53D, @$@ :9-
-";C,53D9 P96&%&@&, @939"., 953$>35) 6$8.6&, 
93@".3.6& E@9%96&@$6&, D 95%9D%96 5 979"91 %$ 
5,845@9, /9')153D9, & =",'D.=$1%9 ;)'D&6.6& 7,-
",- 8&(96 D%,K%&/ E@9%96&=,5@&/ 793")5,%&1. 
Q93) 59*.3&) << 5,%3)*") 200< #9-$ 953$8&54 79'$-
-&, %,9*"$3&6.1 ;B,"*, %$%,5,%%.1 
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 A/57/PV.7

D;>B&/ @9%F,",%(&)6. 29E396; %,58;=$1%9, =39 
5$6., 6$8,%4@&, & %$&6,%,, D8&)3,84%., #95;-$"-
53D$ %$&*98,, =$539 9@$'.D$>35) D =&58, #95;-
-$"53D, 798;=$>B&/ %$&6,%4K;> D.#9-;. 
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&57$%5@&, 3,""&39"&&. A @9%3,@53, 93%9K,%&1 
-";C*. & -9*"9595,-53D$, 589C&DK&/5) 6,C-; W5-
7$%&,1 & T$"9@@9 & 95%9D$%%./ %$ D'$&6%96 ;D$-
C,%&& & 9*B,1 &539"&&, ) /93,8 *. 79-=,"@%;34, 
=39 7"&8,C$B&, 953"9D$ & 5@$8. )D8)>35) %,93+-
,68,691




